Course: SBI PO Pre
Subject: Missing Series and Simplification

Time:10 Minutes
Published Date: 17t May 2020

Directions (1-5): Faffaa ¥=n g@ar ¥ uyare {IF (7)) & WM ® |1 04
STET?

Q1. 7, 16, 21, 70, 79, ?
(a) 200

(b) 121

(c) 198

(d) 90

(e) 151
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Q2. 10395, 6930, 2772, 792, 176, ?
(a) 64

(b) 16

(c) 32

(d) 8

(e) 128
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Q3. 7, 17, 38, 81, 168, ?
(a) 336

(b) 343

(c) 340

(d) 320

(e) 341
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Q4. 21, 32, 17, 38, 13, 44, ?
(@)7
(b)11
(c) 10
(d) 13



(e)9
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Q5. 35, 7, 105, 160, 231, 320
(a) 63

(b) 64

(c) 55

(d) 58

(e) 75
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Directions (6-11): Frafefad sl & ysaras g (7) & RIM W &1 44 3{THT 91eW?

25+35\% 7
Qe. ( 52 ) 2
(a) 121
(b) 11
(c) 242
(d) 42
(e) 150
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Q7. (244 +21)x13+106 of 50 x 100 =7
(a) 65

(b) 75

(c) 162500

(d) 0.0065

(e) 0.0075
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100

Q8. o of 153 + 2343 — (699 — 170)z = (?)?
(a) 60

(b) 55

(c) 45

(d) 50

(e) 44
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3
Q9.107 + §0f 168 x (6.75% of 400)’ = 1098 + 18 + 2197 — 1872 — 90
1
(@)
(b) 1
1
(@3
1
(d);
1
(e)
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Q0. 2+ Sxr— (88200 1) + 12+ 2x 32 =2

s 6 7 9 5 4773 79
(a)é
(b)7;
(C)g6
(d)3g
(e);
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Q11. 120% of 2000 + (36)* - 60% of 3000 = (50)* - ?
(a) 600

(b) 582

(c) 604

(d) 648

(e) 564
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Directions (12-15): MafRaad e §@ar usl ¥ uydras g (7) & /WM R &1 qH
3{TT?

Q12. 25, 33, 46, 69, 112, ?
(a) 175
(b) 180
(c) 185



(d) 190

(e) 195
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Q13. ?, 5 12, 39, 160,
(a) 2

(b) 4

(03

(d)5

(e)1
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Q14. 7, 10, 20, 46, 96,
(a) 6

(b) 7

()8

(d)9

(e)5
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Q15. 2160, ?, 360, 180,
(a) 1080

(b) 720

(c) 900

(d) 810

(e) 1440
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S1. Ans.(a)

Sol.

Series is —

+3%, +5, +7%, +9, +112
=?7=79+121=200

S2. Ans.(c)
Sol.

805

178

60,

30

Solutions



X

2

2

Xg’x

2

7

2
» X =,
9

X

2

11

2
=? = 176 x — =32

S3. Ans.(b)

Sol.

Series is —

x2+3, x2+4, x2+5, ....
=7=168x2+7=343

S4. Ans.(e)

Sol.

Series is —

+11, -15, +21, -25, +31, -35
=?7=44-35=9

S5. Ans.(b)

Sol.

Series is —

+(5%+4), +(6%+5), +(7%+6), ...
=?7=35+(5%2+4)=64

S6. Ans.(c)

Sol.

(32-+243>2__(?)
25 2

? =242

S7.Ans.(a)
Sol.
265 x 13

106 x 50
?7=65

x 100 =7

S8. Ans.(d)
Sol.

153 x 100 1
85 + 2343 — (529)z = (?)?

180 + 2343 - 23 = (?)?
?7=50

S9. Ans. (c)
Sol. 63 x (27)? = 296 — 107

11

Wl



S10. Ans. (b)
Sol. Ex?7=2_3
36 9 2

N o

S11. Ans.(c)
Sol.

120 60
A 2_ = 2_9
100 x 2000 + (36) 100 X 3000 = (50)=-7?

2400 + 1296 - 1800 = 2500 - ?
2500-1896 =7
?7=604

S12. Ans.(e)
Sol.

25 33 46 69 112
I I I I I
8 13 23 43 83
I I I I I
5 10 20 40

S13. Ans.(b)
Sol.

5 12 39 160 805
| | | | |

x1+1 %242 x3+3 x4+4 x5+5

S14. Ans.(c)
Sol.
8 10 20 46 96 178
I I I I I |
2 10 26 50 82

r 1Tt 1 11

1241 3731 5%+1 7241 9241

S15. Ans.(a)
Sol.
2160 |1080| 360 180 60 30

[ I | | I
+2 +3 +2 +3 +2




